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(05 Marks)
(05 Marks)
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Note: ;ll.rper finy FIVE fult questio,ts, clroosing ONE futt question from eoch n,odule.

Nlodule-l
:1. Irxplain now interaction occurs between web browser and web server usirrq III--I-P rlessage.

L.xplain HTTP request messagc forinat. (06 Marks)
Lr. Ciivc the impo$ance of SMTP rn the internet mail systcrx. (05 Marks)
e . ljr|l;1i11 how client rcqucsting objcct through web caclrc. (05 Marks)

OR
2 a. Iloiv FTP moves files between local and relnote file system? List the commands used ur

lTl'}. (()6 Marks)t' l l'. (06 Marks)
b. Irxplain fOP3 (Post Office Protocol Version 3). (0,1 Marr<s)

c. i:xplain the steps involved in interaction of vanous DNS servers. (06 Marks)

3a.[lx1ll;rinStopwaitpIotocol*,,r,o,n,ffitiorrrdt2.0.(06Marks)
b. L:xplain TCP segment structure. (06 Marks)
c. With a neat diagram, explain GO - BACK - N protocol. (04 Marks)

OR
4 a. Explain the steps involved in TCP connection es.tablishrnent using three way hand shaving.

b. What clo you mean by congestion control? Explain slow start mechanism [3:ilfff:]
c. Deflne flow control. Explain how flow is controlled by receiver window ancl receiver br:ffer.

(05 Marks)

5a.DelLncrouting.Whatarethegoals"ffioritlrrrr?(05Marks)
b' A lrost in an organization has an IP addrcss 200.45.34.56 and subnct address mask

200'.155.240.0. What is subnet address? (04 Marks)
e . f rlri;sil1 the fonnat of IPv6 lrcadcrs. (07 Marks)

OR
6a

b

I r1-i,111, OSPI-.
ljinil shofiestpath from noolel using link state algonthrn.

Fig.Q6(b)
Lxplain RlP(Routing Information Protocol) with its message format.
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7 a. Erplain 3G celluiar data network. (06 \'larks)
b. Wnle a note on mobile IP. (06 \'lrrl<s)
c. I-xpliLin in bricf how mobility is rnanaged in cellular netr,vorks. (0"1 \llrks)

8 a. Wirat is handoffs? Explain steps involved when a basc station does decidc to lrarrdoil'ir
(06 \larks)

b. With neat dizrgram, explain agent advertisement and rnobile IP registration. (05 tlrrks)
c. Wrrtc a notc on rndrrect routrng to mobrle node . (()5 \larks)

9 a. Give the classification of multimedia application. Explain in brief. (0;1 \tarl<s)

b. Explain Content Distribution Networks (CDN) and its operation.lontent Distribution Networks (CDN) and its operation. (()ti \'larks)
ow interpction takes place between client and server for HTTP st-rearnnrs.

' (06 \tarlis)

OR
10a,Deflnepolicing.Mention3importantpolicingcriterias.a. Deflne policing. Mention 3 important'policing cdterias. : :::.. (05 Marks)

b. Explain weighted fair queuing. (05 \l:rrks)
c. Write a note on Diffserv. (06 Marks)

,<i<**x

c. Explain how i
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'fime: 3 lrrs.

i\rote: A nswer ony FIVE fitll questions,

C.

a.

b
C.

3a.

b.

4 a,"

b.

C.

5 a.

b

C.
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Semester B.8,. Degree Examinafioh, Aug./Sept.2020
Datahase Manageilie,ht System

(06 Marks)what is Data Independent? Explain different type.s of Data lndependence. (04 Marks)

Explain the component moiluie, orogMoslld their interaction with a near diagram.

:^^^ _r -1 ., (06Marks)
FrxPlain different types of attributes that occurin ER model with an exarnple . (06 Marks)Dcsi-en a!n {r3sram for keeping track of irrot*rtioo ulorrt Bank data-base takrng into an
ir('.()r rnt atleast lour cntities.

(04.NIarks)

Disctrssthecharacteristicsor,.t,,iffiukethemdifferentfromordinarytab1esand
li lcs.
I:xnlain the steps to converl the basic ER model to:.relational database schenla. lffi ffi:[]

OR
wirat are the basic data types available forattributes in SeL? Explain with exarnpie.

Defirre loreign key. Explain ali p-ossible options rhat can u" .p."in.d whe, . |![]:il],intcqrity constraint is violated.
wr iie rire SeL syntax ;i;';;;rpte tor the following : 

(04 Marks)

(i) ,\LTER (ii) TNSERT (iii)UPDATEr \ rr r /, u, un , -, (06 Marks)

Explain the following wlth un "*urnpffi(i) L-orrelated nested Queries
t ii.1 \sscrtions.

106 Marks)l;xpluur aggregate functions in SeL with example. (04 Marks)('onsider the following tables:
WoR KS( Pname. Cnarne, Salary)

lJrscLrss the advantages of using the DBMS approach. ,, 
.,

Ilxptai' three-schema "r"h,;;;;;;';;r"d#u,r. wtylJL'we need ,rrro,rlo[ffi::']
scherna levels? ; '^-*""' 

,r,,^MorLs\

I I\ l.SrPname. Srreet. City)
LOC ATED_IN(Cname, City)
\l \ \ACER( Pname. Mgrname)
\\'r'it.' rlre SQL Query lor rhe lollorr ing :

(i) Rctrie ve the names of the people rvho work fbr Wipro along with the aclclress they
lir e in.

(ii) Iletrieve the name of the person rvho gets second highcst salary.
iiii) trird the number of employee and average salary of each company.

l of 2
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6a.

b.

7a.

b.

What is Functional Dependenc
proof.
Define I NF, 2NF and 3NF b

1scs53

( 0li \l r rks)

(0ll \I a rks)

g an example. (0tl ,\,larks)

OR
8 a. Write an algorithm to minimal cover for a

b. Find the closure respect to F.

c. Which

ional dependencies. (04 Marks)

(04 rVlarks)

functional depenclencr,', l:xplain
(0tt \larks)

Lurcontlo lleci

(06 L\Iarks)
(06 \'larks)
(()-tr \l:i11<s)

(0tt \Iarhs)
(0tl .\{ a rl<s)

9a.

b.
C.
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:

OR
Explain the following with an example: , ,,

(i) Cursor 
.: ::::,, :

(ii) Database Stored Procedure.
Explain thc Standard Three-Tier Arclritccture and list rhc advantages.

Writc a note on :

Timesamp ordering
NO-UNDO/REDO recovery
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Max. Marks: 80

(04 Marks)
(02 Marks)

(04 Marks)
using subset

(08 Marks)

Fifth Semester B.E. Degree Examination, Aug.iSept. 2020
Automata Theory and Gonoputability
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'fimc: 3 hrs.

Note: An.swer any FIVE fitll rluestions, clroosittg ONE lull questioil Jrom eoch module.

Nlodule-l
zt. Dclrne the follorving with cxarnples :

i) String ii) I an-quage

b.
C.

Explain various funr:tions on languagcs.

Fig Q3(c)

OR
State and prove pllmping lemma ilreorem fbr Regr"rlar ianguage.
Prcve that the regular languages are closed under complement,
reverse and letler substitution.
Statc and prove : "The Regular lansuaqcs are
Kleene's Star".

Drau the detcnninistic Fiuirc Slrrlc Machinc t'or thc lollorvins :

i) To acceptdecimalstringdivisible by3 overthe alphabetl: {0, 7,2,3,4,5,6,7.8,g}
ii) To accept odd nLrmber of a's and even number olb's over alphabet. I: {u,b}

(10 NIarks)

a. Write an algorithrn for cleternrinistic pslr?lln ururor.
b. Conrrerl thc lollor.ving Non - cletcministic FSNI to Detemrinistic FSM

constnrction method. (Ref Fig Q2(b))

Jlo,b

'I4-;6---@-!-)@
Fig Q2(b)

Describe standard bar code reader and rvrite its Finite State Machine diagrarn. (04 Nlarks)

What is Regular expression? And rn.rr, pplications of regular expression. (03 Nlarks)
Find the regular expression for the lollowing Languages :

i) 'Io accept strings of 0's and 1's having no r\vo consecutive 0's

C.

3a.
b.

C.

4 ar.

b

ii) t-: {u"b'n lm > 1, n } 1, nm > 3} (06 Marks)
Obtain a regular expression using Klcene's theorem fbr the finite automata shou,n below in
Fig Q3rcl

$lrqt 0., o 0,--rQlS'
I

(07 NIarks)

(07 N,Iarks)

intersection. diffbrence,
(05 Nlarks)

closurc under union, concatenation and

104 Marks)

I ot'2



\Iodu!e-3
5 a. Defile Context - Free Gramrnar (CFG). Design CFG for the follou'ing language.

i) To generate the strings of balanced parentheses

ii) L:{0'"1n'2"|m>landn}0}', (08N1arks)

b. What is ambiguous grammar'7 Show that the follorving granuxar is antlrigrious.

E-E+ EIE*El(E)lid
Write the left most derivation for the string "id + (id " id)"

OR
6 a. Define Deterministic PDA with cxample.

b. Obtlin PDA to acccpt tltc lartguagc.

L: {WCW* 1W =(a 
+ b)" I rvhereWRisrt:verse of Wbya finalstittc.

c. Conveft the follorving CFG to an equivalent PDA.
$ --+ aABB laAA
A -- aBB la
B -- bBB lA
C--+a

15CS/I554

(08 NIarks)

(04 NIarks)

(07 NIarks)

(05 Marks)

that ol an.v

(08 )larks)

(08 NI a rks)

lVlodule-4
a. Prove that "The Context - Free Language properly contain the Regular languages".

(04 N{arks)

b. Show that the languag" 1 : lanb"co I n > 0)is not context free. (08 Nlarks)

c. Prove that "Context- Free Language are non closure under intersection". (04 Nlarks)

OR
a. Define Turing Machine. Explain the u,orking of a Tumin-e machine model. 106 Nlarks)

b. Design a tuming machine thataccepts L: {0'1" lr, 1}. Write the transition diagram lor
the same and also indicate the moves rnade by the tuming machine for the iriput '001 1 '.

( l0 lv-l a rks)

Module-5
a- Write shofi notes on :

i) Multitape Tuming IVlachine

ii) Model of Linear Bourrded Automation. (10 NIarks)
b. Prove that i'I-{ALTrrr : {(M, W) | The Turning machine M halts on input W is undecidable".

(06 N{arl<s)

a" Prove that "The grou;th rate of .r, Srf,or.ntial functional is greater than
polynomial".

b. Write short note on :

i) Quanttur Computers
ii) Church Tuming Thesis.

10

*xr<**
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Max. Marks: 80

(05 Marks)
(07 Marks)
(04 Marks)

(07 Marks)
(06 Marks)
(03 Marks)

(06 Marks)

(10 Marks)

(07 Marks)
(02 Marks)

,. tia.:liii:;

Fifth Semester 8.8,. Degree Examina,t n, Aug./Sept.2020
Advanced Java and J?E.F.
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Notc: ,^lrsryer ililJ, FIVE full questions, choosing ONE Jhtl questiort fi'om euclt module.

N'loclule-l

a. \\'hat iirc [:nun-rc',ti.ns'' [:xplui,-r i,, *ffittec] tlethttcls with exatnp]e. (07 N'Iarks)

b. Ilrrcl1y, c,rplain NLrtrertc Tvpe *'rapirers. (05 Marks)

c. Describe I]rtur annotaticlns u,hich are importecl trorn.java.loug.aunotations. (04 Nlarks)

2 1. [:laborate special krnd of annotation rnrr?lrlr,uirs no mctrbcrs tt itlt irs class. (07 N{arks)

b. Lrxplaln two illtportaut ieatures of JAVA aclded beginning lvith .lDK 5. (07 N{arks)

L:. Give thc constrllction o1'Enumeration with rts cxatnple. (02 Marks)

f irne: 3 hrs.

ii. With an Exarnple program. Erplairt

3 t. \Vhat are the varioLrs changes that collectioti flamervork uncleru'ent rccently?

b. L:xplain the rrethods ciefrned by Deciue .

c. Explain the Array list class of collection classes.

OR
hor,v to store user-Defined classes irt collections.

Moclule-2

b. Mcntion ancl explair-r different interflccs tl-rat sr,rpport maps.

c. Mention any four Legacy methocls definecl by vector.

Module-3
5 a. Briefly describe special string operations u,ith syntax and examples.

b. E,xplain thc fbllorvirtg conccpts
i) charAt ( )

ii) getChar( )
iii) append ( )
ir ) r'cvclsc( ).

6a.
b.

C.

OR
Explain any five Adclitional string buffer trethods. (07 Marks)

Write the Java prograrl which prompts the user fbr the name of a state and than displays that

states capital.
E.xplain String Builders.

I of 2

GBG$ $GH,E,MilE



7 a. Explain Fivc typcs olJSPTags'

b. I)escribe thc core iptcrftrces that are provicled in iavax.servlet.http paliage '

c. Write ii progriyx to slrgrv hor,r,to r,rse clefining and callirlg rllethocl Lrsirlg 'lSP'[ags'

1scs553

(06 Marks)
(06 Marks)
(04 Marks)

(09 Marks)
(07 Marks)

(0,1 \larks)
and 1he .li)BCI/ODUC

(12 \Iarks)

(08 Marks)

With a coclc, cxPlitin horv tir lt'l'f P get requcsts and H ["i'P post requests'

cive step wise cxplanatron to dou,nload ancl lnstall 'l'ancat

N{odule-5
Write a Java progralx to otrlen a cot'ttlectit'rn with a dalabase.

Mention a11 the steps t0 create the associittion betweetl the clatabase

bl'i,.lgc.

10 a. Write the Java Prograt-u tcr

user lD and Passrvorcl.
b. Describe thc follou'ing concepts

i) Scrollable Resuh sct

ii) Callablestaterlent
iii) Transaction Processing
iv) UPdatable ll"estrlt set

oR
ciata base using I.JRI-. and to connect data base using

(08 N'Iarl<s)

2of2



T,ISN
15CS564

(04 Marks)

(08 Marks)
(04 Marks)
(04 Marks)

to cleclarc ancl call a static method.
(04 Marks)
(06 Marks)
(06 Marks)

(05 Marks)
(05 Marks)
(06 Marks)

Fifth semester B.E. f)egree Examination, Aug./Sept.2020

Dot Net Framework for Appticat'.ion Development
': 

Max. Marks: 80'fime: 3 hrs.

Note: Answer any FIVE full questions, choosing ONE futl question from'each module.
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Modrrle-l

Irnplcment genr:ral strLltittre of Cl+ progralll u'ith suitable cxanrple. (06 N{arks)

tlsing exllressir)n bodiecl rretliod, u,rite a [+ prograrr to read two Argunlents as paramcter

Irnri retglr oLlrltLlt yalues as arlciition. substractiott. proclttcl atrcl Jirrision iis ouipltt paralneter

il-orn a mctho(l. (06 Nlarks)

c. Vlcption the clif'ference bett,een local scope atrd class scopc rvith example.

()tt
a. l)iscuss the ctlcic s-\ lltu\ lol tllc tlrllorving :

i) trvi catch blocl<

ii) checkcclr'tltrchccked
iiit tlrlt,u
iv) linall,v.

b. Write a C# program to rletcrmine the largest o1'threc ntimbcrs.

c. l-ist rhe clifl'erent types of operators in C#. Erpl;rir.r any one in blief'

6a.
b.

c.

N4odule-2
ri. \Vhat is static rnetftocl'l With an exatnple, illlstratc hol'

b. Cive clitfbrences betrvcen valuc types ancl refbrellcc types'

c. lixplain tl.ie use of rcf and out paral-]leter r,vith code snippet.

OR
a. Explain c1iIl-erent wtlys of copying an array fi'ol-n system' Array class' (06 Nlarks)

b. Drilercntiate betrvecn structure and class. (05 Marks)

c. Write a Ct# prograrn to create an array of'person rvith uatne and age as fields and dispiay the

yollngest pcrson in the farnili' by taking age as criteria' (05 Nlarks)

Module-3
n. I)iscuss paralxs array and params ob-jects' (0'l N{arks)

b. Illustrate the cotrcept olmethocl oven'icling rvith an exarnplc. (06 Marks)

c. What is an interlticc'l Describe explicitly irnple menting an interface with an exanrple'
(06 \tarks)

OR
Dilltrentiate betn'ecn abstritct class and sealed class'

I*plairi how garbage collector r'vorks.

Implcnrent thl Lrsin! statcrxcnt atrd thc ,O,.l"ji:,. intct'fhce. rvith an exanlple'

GBG$ $G.HEME
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a strLrctiire or
(06 t\lrtrl<s)

(04 IIarhs)
(06 )'Iarks)

(0li l'Iarks)
(0t'l )Iarks)

(()ti \larks)
''' 10 acirl li;uo

(0tl \larks)

7a.

b.

L.

8a
b

Motlule-4
l)cmonstlate horv to declarc rcacl oni,u pl'operty allcl writc 01]1]'propcrty lbr

c lass.

Cot-rrpare Indexers atld arrerYs.

Dellne inclexc,rs iu itrtertaces * ith atl eratrple

oR.

f:xamrne the issue s 1vith oblect type ar-rd the pi-rrpilse o1'getrel ics.

Expiarn Qr-reuc <'l'> collcction chss rvith atl cxample'

OR
trrplain Ordering, firgLrpirtg rttrd rtuutcgltirlg clata using LINQ expressitlt-t'

\\ihat is operator oVerloacling? Writc ii progran'] to ovcrloacl birlar-v oporiilor

N'l oclu lc-5
g a. lmplerle nt au elllultefator bv itstltg ii simple iterator. . .(0tt 

)larks)

b. What is a clelc_eate7 crci-rrc,i,"r i,rst"ance oia clelcgate initializ-ecl uith a singlc sPecif'ic mcthoci'
(0ti i\'larks)

10 a

b

co rlp lcx ttt-t ttrbcrs.

2ol-2


